ADC NVvzc DEC NZ LSR neze STA Flag Instructions: Register Instructions:
add with carry #n $69 2 2 decrement zp $C6 2 5 logical shift A $4A 1 2 store zp $85 2 3 ch c TAX NZ
zP $65 2 3 memory ZPX :gg g g right i:x :;2 i g aceumulator ‘z‘:,)s( :g: § : clear carry - $18 1 2 transferAto X - $SAA 1 2
X $75 2 4 ABS
IZA:’s :SIS) 34 ABS,X SDE 3 7 ABS S4E 3 6 ABS,X $9D 3 5 SEC c XA NZ
ABS,X $7D 3 4+ ABS,X S5E 3 7 ABS,Y $99 3 5
ABS)Y $79 3 4+ EOR s (ZPX) $81 2 6 set carry . $38 1 2 transfer Xto A - $8A 1 2
(ZPX) $61 2 6 bitwise #n  $49 2 2 NOP @Ry so1 2 cLl ! TAY e
(ZP),Y $71 2 5+ exclusive OR ZP  $45 2 3 no operation - SEA 1 2 STX
AND NZ with ZPX $55 2 4 Nz o4 o6 2 3 clear interrupt - $58 1 2 transferAtoY - SA8 1 2
accumulator  ABS $4D 3 4 ORA store zpP 1 NZ
bitwise AND  #n $29 2 2 ABS,X $5D 3 4+ 7 I register ZPY $96 2 4 sE' TYA
with zZP  $25 2 3 ABS,Y $59 3 4+ bitwise OR  #n  $09 2 2 ABS SBE 3 4 Setinterrupt - s78 1 2 transfor Yto A . s98 1 2
seeumuiator 538 2 4 GO Wi T B22i 0 STY v DEX vz
ABS $2D 3 4 3 + a a 3
ABS,X $3D 3 4+ NZ ABS $0D 3 4 store Y zZP  $84 2 3 CLvV X 2
ABSY §39 3 4+ INc AB:'X ::g g :+ register ZPX $94 2 4 clear overflow - $B8 1 2 decrement - SCA 1
ZPX) $21 2 ABS,Y + AB: 4 D NZ
Ghw s 2 8 nooment  zp  sEe 2 s zRX) 301 2 6 s sees CcLD INX
ASL NZC ABS SEE 3 6 (2P),Y $11 2 5+ Branch Instructions: clear decimal - sD8 1 2 incrementX - SEB 1 2
ABS,X SFE 3 7 NZC D NZ
arithmetic A $S0A 1 2 ROL BPL SED DEY
shift left ZP 506 2 5 JMP rotate left A $2A 1 2 branch on rel  $10 2 23+ setdecimal - $F8 1 2 decrementY - $88 1 2
ZA';"S( :‘1'2 g g jump ABS $4C 3 3 ::x :gg g "5' plus INY NZ
(ABS) $6C 3 5 >
ABS,X $1E 3 7 ABS S2E 3 6 BMI . . oy cs 1 2
37 Stack Instructions: incremen - S
BIT NVzZ JSR ABS,X $38 branch on rel  $30 2 2/3+
test bits P s242 3 Jurmp to ABS 520 3 6 ROR e minus TXS 6502 Registers:
subroutine
ABS $2C 3 4 NZ rotate right A S6A 1 2 BVC (ransfer - $9A 1 2 SP - Stack Pointer
BRK B (on stack) | LDA ZP  $66 2 5 branch on rel  $50 2 2/3+ NZ PC - Program Counter
break $00 1 7 load #n A9 2 2 ey :Zg i overflow clear TSX X - Index Register
real - v accumulator i:x ::g g : ABS,X STE 3 7 Bvs transfer SP - $SBA 1 2 Y - Index Register
3 to X
CMP ABS SAD 3 4 All (from stack) branch on rel $70 2 2/3+ © A-Accumulglor
compare #n $C9 2 2 ABS,X $BD 3 4+ RTI overflow set PHA F - Flag Register (Processor Status)
accumulator  zP $C5 2 3 ABS,Y $B9 3 4+ return from - $40 1 6
H ush $48 1 3
Jc ZPX D52 4 @PX) $A1 2 6 interrupt BCC push ator ‘ N ‘ v ‘ * ‘ B ‘ D ‘ I ‘ z ‘ c ‘
ABS $CD 3 4 (2P),Y $B1 2 5+ branch on rel  $90 2 2/3+ aceu
A<M 00 ABS,X SDD 3 :+ LDX NZ RTS carry clear PLA NZ
- + . .
ﬁlm (1; 1 (Az?x‘)' :23 : 6 load X register #n  $A2 2 2 return from - $60 1 6 BCS pull ) 68 1 4 Branch Execution Time:
(zP),Y $D1 2 5+ 9 » e s 3 subroutine h accumulator Abranch that is not taken requires two_
NZC ZPY $B6 2 4 NVZC E;?:;Csef:n rel  $BO 2 2/3+ machine cyck;s. Afda one if n;‘e branch is taken
CPX ABS SAE 3 4 SBC PHP gggnaddadryano( er if the branch crosses the page
compare X #n  SEO 2 2 ABS,Y SBE 3 4+ subtract with #n  SE9 2 2 BNE push - s08 1 3 :
reatster Abs :Ef: 33 LDY e o i:.x 2:: 4 branchon ~ rel  $D0 2 23+ Statue Vectors:
ABS SED 3 4 not equa
CPY NZC load Y register :: ::2 g § ABS,X SFD 3 4+ BEQ PLP All (from stack) SEFFA- NMI
compareY  #n  $CO 2 2 ZPX $B4 2 4 :‘z‘:s;(‘)' ::‘1’ ; g* braneh on ol SFO 2 213+ pull processor - $28 1 4 $FFFC - RESET
register zP scaz 3 ABS SAC 3 4 Y 2 8 equal status $FFFE - IRQ
ABS $CC 3 4 ABS,X $SBC 3 4+ A



